— ANRhRIERIE

O iERDFEN

m(a, b) ZED, BE m OEZROHERE
y—b=m(x—a) ---(1)
Zhs, R y =f(x) LD (a, fla) ) (BT DIEEDS
BRI, (D)IEBWT, m=f"(a), b=fla) EHLT
@) = fla)(x—a) ---(2)
BEULL(E
y=f@)+ f(@(x—a) --+(3)

ERIDELSC, MBROyBE] (&, x=aDEE (6
ROy BIE] EFRR(C—HIT DN, x Ma (TREVVEZE
BEEE, TOERLUEETRD TULS.

g5,
JO=@)+ f(@x—a) ---(4)
x—a=h £H<&, (4,
flath)=fl@)+ f(@h ---(5)
EELZEETES.

O 1RDEH

x Ma [CHDEWMEZ EDEF,
J)=fla)+f (@) (x—a) --+(4)
h B0 ([CHoaENESE
Sflath)=fa)+f"(@h ---(5)
(2, a=0 D&
J)=0)+1(0)x ---(6)
NSO ZERE fix) D 1IRDFEBT END.

BlEzs
(1) x50 DES, fix)=sin x O 1ROFUERSD
&.

(2) x50 DEE, f)=VT+x D 1ROEBRHZERSD
.

(3) 1RODEBRZRWNT, ROMBEOIELYEZ KD K.
1.017°

LR

X1

il

f)=(1+x)? D=
' )=2(1+x) Eh5, f(0)=2
x HROICHDENMERED EE
JOI=0)+f(0)x=1+2x

IEREIME, fix)=(1+x)° =1+2x+x’ EL®ITBE, x=0.1 12
S5Ex’=0.01 &30, ZOERFEALERTEZF LS
(AN

(BR)
f(0)=0
f’(x)=cosx
Zhs
fx)=0+1x=x

» SO0)=1

=

(B=)

J0)=1

=L L, ro= .
Ehs
fro)=1+ éx
(&%)
f)=(1+x) 70 &£BL,
' x)==5(1+x)"0
x50 DEFE,

JO)=A0)+f(0)x=1-5x
£0.01)%1-5%0.01=0.95


file:///G:/2020_Doushisya/high_school/mobile/approx1.htm

(1) x50 DEF, fix)=log(I+x) D1 RDELRAE

k&, cNEFIALT log 1.01 DiFfUEZRKD K.
log 1.01=
| Check | Reset | help |

(2)

x50 DESE, fix)=tan x D L RDEPREKRSD, =
NZzFALUT tan % DIFLHEZE KD K.

JZI2U, n=3.1416 £U, #ERIINEEEIMIFTRD
K.

tan L=

| Check | Reset | help |

(3)

XS0DEE, f()=N1000+x D 1 RODEMRERSD,
cnEFMELT V0] OELMEERDE. (N3
=7T)

N1001 =

| Check | Reset | help |

O 2RDEH

(BG)R(Eh N0 (ICHHENEE h D 1RRTEMNZRD
LizEDERD>TNS
farh)=fl@)+f (@h ---(5)
BRCEUTESCHEUVVESRN FELWVEER, hD2
RI, 3RW, - EREEEF LTV ELDBEDS L IE
BRGNS,

x HalCHHEVEREBEE,
JO)Sf@)+ (@)(x—a)+ % (-a)’ - (7)

hIR0 (CH5ENE =

fla+h)=f(a)+f (@h+ Z_QLh .-(8)
a=0 DEE

f)=f0yf O L (9

CNSOREBE f(v) D2ROF/TLENS.

O FAS5—DEH

(F#55)
h B0 ([CHmanEE
fla+h)Sa+ph+ yh? =g(a+h)
B L,
B+2yh=g'(a+h)
2y=g’(ath

h=0 DEZ=, fla)=g(a)
h=0 DEE, f(a)=g'(a)
h=0 DEE, f(a)=g"(a)
BEMFETDE,
(*1)&D, a=fla)
(*2)KD, B =f"(a)

- [(a)
2!

(*3)&D, v

nla, E133.

X MRS, a,x"ZEn EHMHDITDE

n

x NalC+DEVWMER EB ESE,

fo)=fla)+f (a)(x—a)+ M)(\ g+ + @
( nREEH%E ™ (x) TEDT. )
A0 ([CH3ENESE

n!

flath)=f(a)+f (a)h+ M)hz+ A+ L)@lh” +R,

(a) (x—a)" +R,

TNEFAS—DEEENS, (R”mLMch®4¢@ o3 )




AN EREER (BEIDOHOER) [CUIEED(TDEER, >0 ER2B)ET1S5—EHEWNS.
)= @0+ S Wa—a)?+..+ [0 @+
! n!

ftath)=fa)+f (@h+L ’2’(,“) p? o+ L@y

n/

T—S—DE®’, TAT-—ERICENT, F(Ca=0 OBEEF, YOO-J>0EE, voO0—-UVEREFENSD.

JO)=10)+f(0)x+ %’N +ot L0 nip

n!

S =f0)+f " (0)x+ L0 2(/0 w2+ L O

n!

X FTAS—ER, XOO-UCEREEIC, [MERIENIRT 2KDS7x F2ldh DIEDEEHE] Z5KI D2uENHD
N, TITEA Fel@Fx 00 (SRS, PRI DHENCHDIHBEZROTND.

iRt

(1) fix)=e* OxoUO—-U2EMZRDK.
fe)=e*, ' x)=e, - fMx)=e* ( y™ [FnREE%K )
JfO)=1, fO)=1,f(0)=1, -~ [ (0)=1 1Zh>

: X3 x" - 1 4 1 1
ef=l+x+2 +2 b X 4. ( x=1 BRATDE, e=]+1+ L+ L +p Lt )
2! 3! n! 2! 3! n!

(2) fix)=sin x OXYIO—Y2ERZRDK.

f’(x)=cos x, f’(x)=—sin x, -
f0)=0, 0)=1, f0)=0 ,—1,0, , (4EMn 32 EICKETS. )

3 5
sin x =x— X+ X_—...
3/ 5!

(3) flx)=cos x OXZO—Y>EHEZRDK.

f’(x)=—sin x,f”’(x)=—cos x, -
F0)=1,1(0)=0, f(0)=—1, 0, - (4EMPR I EICKEITD. )

x° . x?
Cos x =]— 22—+ = _—-

20 4!



file:///G:/2020_Doushisya/high_school/PC/index.html

